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JERL # i) hva EFZ gaill FE FiR4 Total 10 9 &%
1 6B 8 D =g AF 3 2 blin N2 289 22 6
2 658 4 D e A E2 3 IR FE 288 19 10
3 648 5 D T BEH 3 3 PliR- N2 288 18 10
4 648 2 D RE & 3 3 PliR- N2 287 19 9
5 6%B 1 D KIT (G E2 3 TR FE 286 17 12
6 648 9 D BO KR 3 2 PliR- N2 284 16 13
7 648 3 A 8 3k 3 2 R R AR 282 16 11
8 648 3 D B EARER 3 3 IR N 279 13 13
9 648 6 D 2T 8K 3 3 IR N 274 15 12
10 6B 7 D T BA 3 2 IR N 269 11 11
11 658 4 A ®EmE E 1 fiib=leal N2 268 7 16
12 648 6 B &F EA 3 3 EfstiwiN= 267 12 12
13 648 5 C #E &) 3 2 BEAEFRAR 267 8 12
14 64B 6 C Al B B 2 BEAEFRAR 260 8 10
15 64B 7 B NE EE 3 3 EfstiiNe 258 7 11
16 64B 5 A KEH 3 1 fiyaleal N 245 3 13
17 648 9 A L) 3 3 R A 244 5 11
18 64B 3 C FHOBEA B 2 Bl FBEAR T 242 7 9
19 64B 1 A ¥ N=E4 3 3 F) el = 238 5 8
20 686 6 A TIEfE 5 1 G aleal Sy Nl 236 6 7
21 64B 1 B BH EN 3 2 PR AT 232 4 7
22 GEY 8 C EH Bz 5 2 RN 227 3 8
23 648 2 A LA} 3 3 P FRERT 216 6 7
24 648 7 C RN 3 2 [EaficpealyNeal 211 4 8
25 648 1 C Lo BE 3 2 L FBEAR T 209 2 4
26 648 7 A EM BA 3 3 PR AT 203 4 5
27 R 9 C T A 5 2 RN 203 4 5
28 648 8 B R®E N 3 2 FHEARZF 190 2 4
29 64B 2 C B2 BX 2 2 el FBEAR T 185 1 7
30 658 9 B Eif B 2 2 FHEARF 179 1 2
31 6B 5 B TR BX 5 1 R ERIKE 175 2 5
32 658 4 B LTV 2 1 HEERKS 173 2 5
33 64B 8 A B B 2 3 MPERNAF 111 0 1
34 64B 2 B PN E=ES 2 1 PR KT 69 1 1
35 6B 3 B EHEE 5 1 R ERIKE 69 1 0
36 6B 4 C Lau HokHim B 2 BLF RS R
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2023/11/19 @KBrRAS
&AL B £6) hva EFL PRI Sak: S FR4 Total 10 9 f&E

1 638 10 A =k 7 1 R FEBRAFE 281 13 15

2 630 14 A R FTH 7 2 THRER AT 255 4 11 RESEER
3 60 10 B KR = 2 A ERARF 251 6 11

4 680 11 D P ERT =z 2 PN TN 250 6 10

5 6% 13 C R BT 7 1 FHKRZFE 247 8 5

6 638 13 A RS z 2 TR ERRE 245 3 12

7 680 10 D BRETER 8 2 PN PNE 234 3 7

8 630 14 B G2 ]l T 1 TR ERAF 227 8 6

9 6350 11 A Sl ¥ 7 2 FHEER AT 227 5 8

10 6350 14 C =1 ESH 7 1 FEKRZFE 217 2 3

11 638 13 B (L fhfE 7 1 HAERKF 212 4 5

12 638 12 C N R =4 1 FTHKRZFE 206 3 6

13 638 10 C HE HAY S 1 TR ERARFE 184 1 6

14 630 12 A A fa T 2 TR ERAF 171 1 6

15 638 13 D A mE =z 1 REBKF 159 1 5

16 635F 12 B BH K 7 1 HAERKF 153 1 3

17 638 11 C IR B3 z 1 TR ERRFE 139 0 6

18 638 11 B TH BT 7 1 FHRERAFE 127 1 0

19 630 12 D AFER T 3 KIRKZFE RFE




